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0.870 m3 = 1.500 * 0.290 * (2.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
1.950 m3 = 1.500 * 0.650 * (2.000 + 0.000 + 0.000 + 0.000)
] 3 MR = WHIE X A X (ETER + RIER + AREE + MELER)
1.380 m3 = 1.500 * 0.460 * (2.000 + 0.000 + 0.000 + 0.000)
M I 1 [BE = wlE X (ETHER + AREE + AWER + MEALER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
HAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
BAZE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
TTET D 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALR)
1.950 m3 = 1.500 * 0.650 * (2.000 + 0.000 + 0.000 + 0.000)
e 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
1.380 m3 = 1.500 * 0.460 * (2.000 + 0.000 + 0.000 + 0.000)
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(HEH) 0.870 m3 = 0.870
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(HEH!) 1.950 m3 = 1. 950
B ALy JE 3 |&%E = EHIEsE LR

(HEH) 1.380 m3 = 1.380
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KiEH
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ZRHEQ| 0.25 1.5 0.0118 3.5 28 0. 4956 1 0. 4956 7 1.5mEATF | 1. 1.5
EZH8HFQ| 0.25 1.5 0.0118 3.5 28 0. 4956 1 0. 4956 1 1.5mATF|1.1~1.5
ZERAE@D| 0.25 1.5 0.0118 3.5 28 0. 4956 1 0. 4956 7 1.5mATF|1.1~1.5
ZE=H5HFG| 0.25 1.5 0.0118 3.5 28 0. 4956 1 0. 4956 1 1.5mEATF |1 1.5
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